

Houghton Mifflin Harcourt

Proposal

Prepared For

Morning Star School

Attention:
Jontai Binder
ap@morningstar-jax.org

For the Purchase of:

Into Social Studies K-6

Prepared By
Janette Sangster
janette.sangster@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

Attention: Jontai Binder ap@morningstar-jax.org

Free Value of All Materials **ISBN** Title Price Quantity Material Quantity **Grade K Student Digital Licenses** 9780358398882 Into Social Studies Student License Digital 5 Year \$50.00 10 \$500.00 Includes: Into Social Studies Digital Student Resources 5 Year Grade K-6 Implementation Success **Total for Student Digital Licenses** \$500.00 **Teacher Digital Licenses** 9780358552581 Into Social Studies Teacher License Digital 5 Year Grades K-6 \$375.00 Includes: Into Social Studies Digital Teacher Resources 5 Year Grades K-6 Access to Teacher's Corner \$0.00 **Total for Teacher Digital Licenses** A la Carte Items Available for Purchase **Teacher Materials** 9781328841568 2018 Into Social Studies Teacher Guide Grade K The World Around Us \$150.00 \$150.00 1 Student Materials 9781328861986 2018 Into Social Studies Student Edition Bundle 5 Year Print Grade K \$40.00 10 \$400.00 Total for A la Carte Items Available for Purchase \$550.00 **Total for Grade K** \$1,050.00 Grade 1 **Student Digital Licenses** 9780358398882 Into Social Studies Student License Digital 5 Year \$50.00 10 \$500.00 Includes: Into Social Studies Digital Student Resources 5 Year Grade K-6 Implementation Success **Total for Student Digital Licenses** \$500.00 **Teacher Digital Licenses** 9780358552581 Into Social Studies Teacher License Digital 5 Year Grades K-6 \$375.00 Includes: Into Social Studies Digital Teacher Resources 5 Year Grades K-6 Access to Teacher's Corner **Total for Teacher Digital Licenses** \$0.00 A la Carte Items Available for Purchase **Teacher Materials** 9781328841575 2018 Into Social Studies Teacher Guide Grade 1 Families Living and \$150.00 \$150.00 Working Together **Student Materials** Attention: Customer Experience

Jontai Binder ap@morningstar-jax.org 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

Proposal for

Morning Star School Free Value of All Materials **ISBN** Title Price Quantity Material Quantity 9781328861993 2018 Into Social Studies Student Edition Bundle 5 Year Print Grade 1 \$40.00 10 \$400.00 Total for A la Carte Items Available for Purchase \$550.00 \$1,050.00 **Total for Grade 1** Grade 2 Student Digital Licenses 9780358398882 Into Social Studies Student License Digital 5 Year \$50.00 10 \$500.00 Into Social Studies Digital Student Resources 5 Year Grade K-6 Implementation Success \$500.00 **Total for Student Digital Licenses Teacher Digital Licenses** 9780358552581 Into Social Studies Teacher License Digital 5 Year Grades K-6 \$375.00 Into Social Studies Digital Teacher Resources 5 Year Grades K-6 Access to Teacher's Corner **Total for Teacher Digital Licenses** \$0.00 A la Carte Items Available for Purchase **Teacher Materials** 9781328841667 2018 Into Social Studies Teacher Guide Grade 2 Neighborhoods and \$150.00 \$150.00 1 Community **Student Materials** 9781328862006 2018 Into Social Studies Student Edition Bundle 5 Year Print Grade 2 \$40.00 10 \$400.00 Common Cartridge 9781328843661 2018 Into Social Studies Common Cartridge 5 Year Digital Grade 2 \$55.00 10 \$550.00 Total for A la Carte Items Available for Purchase \$1,100.00 **Total for Grade 2** \$1,600.00 Grade 3 **Student Digital Licenses** 9780358398882 Into Social Studies Student License Digital 5 Year \$50.00 15 \$750.00 Includes: Into Social Studies Digital Student Resources 5 Year Grade K-6 Implementation Success **Total for Student Digital Licenses** \$750.00 **Teacher Digital Licenses** 9780358552581 Into Social Studies Teacher License Digital 5 Year Grades K-6 \$375.00 1 Includes: Into Social Studies Digital Teacher Resources 5 Year Grades K-6 Access to Teacher's Corner

Attention: Jontai Binder ap@morningstar-jax.org

Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

Expiration Date: 4/9/2021

	Morning Star Scri	OOI			Free
ISBN	Title	Price	Quantity	Value of All Material	Materials Quantity
Total for	Teacher Digital Licenses	\$0.00			
A la Carte	ltems Available for Purchase				
Teacher N	Materials				
9781328841674	2018 Into Social Studies Teacher Guide Grade 3 Communities, Near and Far	\$150.00	1	\$150.00	
Student N	Materials				
9781328862013	2018 Into Social Studies Student Edition Bundle 5 Year Print Grade 3	\$40.00	15	\$600.00	
Total for A	A la Carte Items Available for Purchase	\$750.00			
Total for Grade	<u>e 3</u>	\$1,500.00			
Student D	<u>Grade 4</u> Digital Licenses				
9780358398882 Includes		\$50.00	15	\$750.00	
Into S	cocial Studies Digital Student Resources 5 Year Grade K-6 mentation Success				
Total for S	Student Digital Licenses	\$750.00			
Teacher D	Digital Licenses				
	Into Social Studies Teacher License Digital 5 Year Grades K-6 :: iial Studies Digital Teacher Resources 5 Year Grades K-6 to Teacher's Corner	\$375.00			1
Total for 1	Teacher Digital Licenses	\$0.00			
A la Carte	ltems Available for Purchase				
Teacher N	M aterials				
9781328841681	2018 Into Social Studies Teacher Guide Grade 4 American States and Regions	\$150.00	1	\$150.00	
Student N	Materials				
9781328862020	2018 Into Social Studies Student Edition Bundle 5 Year Print Grade 4	\$40.00	15	\$600.00	
Total for A	A la Carte Items Available for Purchase	\$750.00			
Total for Grade	e <u>4</u>	\$1,500.00			
Student D	<u>Grade 5</u> Digital Licenses				
9780358398882	Into Social Studies Student License Digital 5 Year	\$50.00	15	\$750.00	
	s: Social Studies Digital Student Resources 5 Year Grade K-6 mentation Success				
Total for S	Student Digital Licenses	\$750.00			
	Attaction		Custon	oor Evporionee	

Attention: Jontai Binder ap@morningstar-jax.org

Expiration Date: 4/9/2021

Free

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
Teacher D	oligital Licenses				
9780358552581 Includes	Into Social Studies Teacher License Digital 5 Year Grades K-6	\$375.00			1
Into Soci	ial Studies Digital Teacher Resources 5 Year Grades K-6 o Teacher's Corner				
Total for 1	Teacher Digital Licenses	\$0.00			
A la Carte	Items Available for Purchase				
Teacher M	flaterials flaterials				
9781328841711	2018 Into Social Studies Teacher Guide Bundle Grade 5 The United States	\$150.00	1	\$150.00	
Student M	laterials				
9781328862037	2018 Into Social Studies Student Edition Bundle 5 Year Print Grade 5 The United States	\$40.00	15	\$600.00	
Total for A	A la Carte Items Available for Purchase	\$750.00			
Total for Grade	<u>e 5</u>	\$1,500.00			
9780358398912	Grade 6 igital Licenses HMH Social Studies: World Civilizations Student License Digital 5 Year	\$80.00	15	\$1,200.00	
	: Student Resources 5 Year Grade 6-8 nentation Success				
Total for S	Student Digital Licenses	\$1,200.00			
Teacher D	Digital Licenses				
9780358552734 Includes	HMH Social Studies: World Civilizations Teacher License Digital 5 Year	\$375.00			1
HMH So	cial Studies: World Civilizations Digital Teacher Resources 5 Year to Teacher's Corner				
Total for 1	Feacher Digital Licenses	\$0.00			
A la Carte	Items Available for Purchase				
Teacher N	laterials				
9780544917927	2018 HMH Social Studies: World Civilizations Teacher Guide Bundle	\$150.00	1	\$150.00	
Student M	laterials				
9781328699664	HMH Social Studies: World Civilizations Guided Reading Workbook 5 Year Print	\$32.50	15	\$487.50	
Total for A	A la Carte Items Available for Purchase	\$637.50			
Total for Grade	<u>e 6</u>	\$1,837.50			

Grade 6 Student Digital Licenses

> Attention: Jontai Binder ap@morningstar-jax.org

Expiration Date: 4/9/2021

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
	United States History Student License Digital 5 Year : Student Resources 5 Year Grade 6-8 nentation Success	\$80.00	15	\$1,200.00	
Total for S	Student Digital Licenses	\$1,200.00			
Teacher D	igital Licenses				
	United States History Teacher License Digital 5 Year tates History Digital Teacher Resources 5 Year to Teacher's Corner	\$375.00			1
Total for T	eacher Digital Licenses	\$0.00			
A la Carte	Items Available for Purchase				
Teacher M	laterials				
9780544917736	2018 United States History Teacher Guide Bundle	\$150.00	1	\$150.00	
Student M	aterials				
9781328698360	United States History Guided Reading Workbook 5 Year Print	\$32.50	15	\$487.50	
Total for A	la Carte Items Available for Purchase	\$637.50			
Total for Grade	<u>• 6</u>	\$1,837.50			
Student D	<u>Grade 9</u> igital Licenses				
	American History Student License Digital 5 Year Student Resources 5 Year Grade 9-12 entation Success	\$80.00	15	\$1,200.00	
Total for S	Student Digital Licenses	\$1,200.00			
Teacher D	igital Licenses				
	American History Teacher License Digital 5 Year History Digital Teacher Resources 5 Year Teacher's Corner	\$375.00			1
Total for T	eacher Digital Licenses	\$0.00			
A la Carte	Items Available for Purchase				
Teacher M	laterials				
9780544915497	2018 American History Teacher Guide Bundle	\$150.00	1	\$150.00	
Student M	aterials				
9781328703422	American History Guided Reading Workbook 5 Year Print	\$32.50	15	\$487.50	
Total for A	A la Carte Items Available for Purchase	\$637.50			

Attention: Jontai Binder ap@morningstar-jax.org

Date of Proposal: 2/23/2021 Expiration Date: 4/9/2021

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
Total for Grade	9.9	\$1,837.50			
Student D	<u>Grade 9</u> igital Licenses				
	High School World History Student License Digital 5 Year Student Resources 5 Year Grade 9-12 entation Success	\$80.00	15	\$1,200.00	
Total for S	Student Digital Licenses	\$1,200.00			
Teacher D	igital Licenses				
9780358552796		\$375.00			1
	story: Survey Digital Teacher Resources 5 Year o Teacher's Corner				
Total for T	eacher Digital Licenses	\$0.00			
A la Carte	Items Available for Purchase				
Teacher M	laterials				
9780544915565	2018 World History Teacher Guide Bundle	\$150.00	1	\$150.00	
Student M	aterials				
9781328706423	World History Guided Reading Workbook 5 Year Print	\$32.50	15	\$487.50	
Total for A	la Carte Items Available for Purchase	\$637.50			
Total for Grade	99	\$1,837.50			
Student D	Grade 9 igital Licenses				

9780358399278 Includes:		\$80.00	15	\$1,200.00	
	Student Resources 5 Year Grade 9-12 entation Success				
Total for S	tudent Digital Licenses	\$1,200.00			
Teacher D	igital Licenses				
	High School Government Teacher License Digital 5 Year tates Government Digital Teacher Resources 5 Year to Teacher's Corner	\$375.00			1
Total for T	eacher Digital Licenses	\$0.00			
A la Carte	Items Available for Purchase				
Teacher M	laterials				
9780544742857	2018 United States Government Teacher Edition	\$150.00	1	\$150.00	
Student M	aterials				
	Jonta	ention: i Binder ngstar-jax.org	9400 South Orlan	ner Experience n Park Center Loo do, FL 32819 800-269-5232	op
	HMH Confidenti	al and Proprietary		rs@hmhco.com	

Free

Proposal for Expiration Date: 4/9/2021 **Morning Star School** Free

ISBN	Title	Price	e Quantity	Value of All Material	Materials Quantity
9781328705129	United States Government Interactive Reader and Study Print	Guide 5 Year \$32.50	0 15	\$487.50	
Total for A	A la Carte Items Available for Purchase	\$637.5	50		
Total for Grade	9	\$1,837	.50		
Student D	<u>Grade 9</u> igital Licenses				
9780358399247		Year \$80.00	0 15	\$1,200.00	
	Student Resources 5 Year Grade 9-12 entation Success				
Total for S	Student Digital Licenses	\$1,200.	.00		
Teacher D	ligital Licenses				
9780358552949 Includes	High School Global Geography Teacher License Digital 5	5 Year \$375.0	00		1
Global G	jeography Digital Teacher Resources 5 Year o Teacher's Corner				
Total for T	Feacher Digital Licenses	\$0.00)		
A la Carte	Items Available for Purchase				
Teacher M	laterials				
9780544927926	2019 Global Geography Teacher Edition	\$150.0	00 1	\$150.00	
Student M	laterials				
9781328506283	Global Geography Guided Reading Workbook 5 Year Pri	nt \$32.50	0 15	\$487.50	
Total for A	A la Carte Items Available for Purchase	\$637.5	50		
Total for Grade	<u>s 9</u>	\$1,837	.50		
Student D	<u>Grade 9</u> igital Licenses				
Includes Digita	High School Economics Student License Digital 5 Year: I Student Resources 5 Year Grade 9-12 mentation Success	\$80.00	0 15	\$1,200.00	
Total for S	Student Digital Licenses	\$1,200.	.00		
Teacher D	oligital Licenses				
Includes Economi	High School Economics Teacher License Digital 5 Year: : :cs Digital Teacher Resources 5 Year o Teacher's Corner	\$375.0	00		1
Total for T	Feacher Digital Licenses	\$0.00)		
A la Carte	Items Available for Purchase				
		Attention:		omer Experience	

Jontai Binder ap@morningstar-jax.org

9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

IODN	T''.	T101-			Free Materials	
ISBN	Title	Price	Quantity	Material	Quantity	
Teacher Mate	erials					
9780544859302 20	018 Economics Teacher Edition	\$150.00	1	\$150.00		
Student Mate	rials					
9781328704573 Ed	conomics Reading Study Guide 5 Year Print	\$32.50	15	\$487.50		
Total for A la	Carte Items Available for Purchase	\$637.50				
Total for Grade 9		\$1,837.50				
	Grada 0	, ,				
Student Digit	Grade 9 al Licenses					
9780358399186 Hi Includes:	gh School Civics Student License Digital 5 Year	\$80.00	15	\$1,200.00		
	ident Resources 5 Year Digital Grade 9-12 tation Success					
Total for Stud	dent Digital Licenses	\$1,200.00				
Teacher Digit	tal Licenses					
9780358553212 Hi Includes:	gh School Civics Teacher License Digital 5 Year	\$375.00			1	
High School	Civics Digital Teacher Resources 5 Year eacher's Corner					
Total for Tead	cher Digital Licenses	\$0.00				
A la Carte Ite	ms Available for Purchase					
Teacher Mate	erials					
9780544917149 20	018 Civics Teacher Edition	\$150.00	1	\$150.00		
Student Mate	rials					
9780544917132 20	018 Civics Student Edition	\$31.42	15	\$471.30		
9781328712110 Ci	vics Guided Reading Workbook 5 Year Print	\$32.50	15	\$487.50		
Total for A la	Carte Items Available for Purchase	\$1,108.80				
Total for Grade 9		\$2,308.80				
Total for Grade 5		Ψ2,000.00				
Getting Starte	Professional Services ed and Follow-Up Live Online					
The Getting for their first experiences	to Social Studies Getting Started Two Hour Live Online Grades K-6 Started live online session is streamlined to focus on preparing teachers weeks of instruction. Participants engage in a variety of interactive to learn about the organization and resources of Into Social Studies. o build confidence and prepare teachers for a strong start with Into es.	\$800.00	1	\$800.00		
Follow-Up se	to Social Studies Follow Up 1 Hour Live Online Session Grades K-6 essions build upon the Getting Started to help teachers take full f Into Social Studies components, assessments, differentiation, and	\$400.00	1	\$400.00		
007045505	Attention: Jontai Binder ap@morningstar-jax.org HMH Confidential and Proprietary		9400 South Orland FAX: 8 k12orde	ner Experience n Park Center Lo do, FL 32819 800-269-5232 rs@hmhco.com	· 	

Expiration Date: 4/9/2021

Free

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
	eir students. An HMH Services team member will nto Social Studies classroom-focused topics to hour live online session(s).				
Total for Getting Started and Fo	ollow-Up Live Online	\$1,200.00			
Total for Professional Services		\$1,200.00			
Professiona Getting Started and Follow-Up					
for their first weeks of instruction. F experiences to learn about the organization.	tarted Two Hour High School Live Online sion is streamlined to focus on preparing teachers tarticipants engage in a variety of interactive anization and resources of Social Studies. The pare teachers for a strong start with Social	\$800.00	1	\$800.00	
Follow-Up sessions build upon the advantage of Social Studies compo tools to meet the needs of their stu	of 1 Hour Live Online Session 1 Grade 9-12 Getting Started to help teachers take full onents, assessments, differentiation, and digital dents. An HMH Services team member will work Studies classroom-focused topics to create a online session(s).	\$400.00	1	\$400.00	
Total for Getting Started and Fo	ollow-Up Live Online	\$1,200.00			
Total for Professional Services		\$1,200.00			
Professiona Getting Started and Follow-Up					
for their first weeks of instruction. F experiences to learn about the organization	tarted Two Hour Middle School Live Online sion is streamlined to focus on preparing teachers articipants engage in a variety of interactive anization and resources of Social Studies. The pare teachers for a strong start with Social	\$800.00	1	\$800.00	
Follow-Up sessions build upon the advantage of Social Studies compo tools to meet the needs of their stu	of 1 Hour Live Online Session 1 Grade 6-8 Getting Started to help teachers take full ments, assessments, differentiation, and digital dents. An HMH Services team member will work Studies classroom-focused topics to create a online session(s).	\$400.00	1	\$400.00	
Total for Getting Started and Fo	llow-Up Live Online	\$1,200.00			

Attention: Jontai Binder ap@morningstar-jax.org Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

Total for Professional Services

\$1,200.00

Date of Proposal: 2/23/2021

ISBN

Proposal for Morning Star School

Expiration Date: 4/9/2021

Free Value of All Materials Price Quantity Material Quantity

 Total Savings:
 \$5,250.00

 Subtotal Purchase Amount:
 \$26,971.30

 Shipping & Handling:
 \$852.42

 Sales Tax:
 \$0.00

Title

Total Cost of Proposal (PO Amount): \$27,823.72

Attention: Jontai Binder ap@morningstar-jax.org

Total Cost of Proposal (PO Amount): \$27,823.72

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, high-quality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for delivery of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.

Ship to: Sold to:

Morning Star School

725 Mickler Rd

Jacksonville, FL 32211-7251

Morning Star School

725 Mickler Rd

Jacksonville, FL 32211-7251

- · Please provide funding start and end dates.
- · Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- Our shipping terms are FOB shipping point. The shipping term for your proposal is Shipping Point.
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 2/23/2021 Proposal Expiration Date: 4/9/2021



Attention: Jontai Binder ap@morningstar-jax.org

HMH Confidential and Proprietary

Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com